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Q. In a row of 54 students A is 15" from left end and B is 20*" from the right end of the row .
Find the number of persons between A& B ?
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Q. In a row of 49 students A is 27" from left end and B is 27" from the right end of the row.

Find the number of persons between A & B ? Y9 F
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Q. In a row of girls sonali is 19*" from left end whereas Sakshi is 25" from right end. If they
interchange their position then Sonali becomes 32 from left end. Then find,
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1. Total number of?erson inthatrow? = S 6
2. New position of ' fromrightend? =5 - ]
3. Number of person between & ?
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In a class among the passed students Aman is 32nd from the top and Kapil,who is 5 ranks below Aman, is
54th from the Bottom. All the students from the class appeared from an examination. If the ratio of the
students who passed in the examination to those who failed is 5:2 for the class, how many students were

there in class?
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There are six people - P, Q, R, S, T and U -each having different weight. P is heavier than U
but lighter than Q. T is heavier than R but lighter than P. Q is lighter than S. R is not the

lightest. The second lightest person weighs 52kilograms while the third heaviest is of
64kilograms.

Q. Who among the following may be of 58Iéog ams in weight ? (9
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Q. Among B, F, J, K, and W each having a different weight, F is heavier than only J. B is
heavier than F and W but not as heavy as K. Who is the third heaviest among them?
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AmongA, B, C, D and E, each having a different weight, D is not lighter than B and E is not
heavier than A. Cis not the heaviest. Who among them is the lightest?
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Q. Four persons M, N O and P are playing cards. M is one the right of N and P is one left of O.
Then which of the following are partners?

(a) P and OJp)/M andP(c)MandN(d)Nand P N
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In a row of boys, Srinath is 7th from the left and Venkat is 12th from the right. If they
interchange their positions, Srinath becomes 22nd from the left. How many boys are there in

the row?
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